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(B) 0.22 
 
(C) 0.25 
 
(D) 0.28 
 
(E) 0.31 
 
 
 
 
 
 
 

65. You are given the following information about a general liability book of business 
comprised of 2500 insureds: 

(i) X Yi ij
j

Ni
�

�
�

1
 is a random variable representing the annual loss of the ith insured.  

 
(ii) N N N1 2 2500, , ...,  are independent and identically distributed random variables 

following a negative binomial distribution with parameters r � 2  and � � 0 2. .  
 

(iii) Y Y Yi i iNi1 2, , ...,  are independent and identically distributed random variables 
following a Pareto distribution with � � 30.  and � � 1000 . 
 

(iv) The full credibility standard is to be within 5% of the expected aggregate losses 
90% of the time. 

 
Using classical credibility theory, determine the partial credibility of the annual loss 
experience for this book of business. 
 
(A) 0.34 
 
(B) 0.42 
 
(C) 0.47 
 
(D) 0.50 
 
(E) 0.53 
 

66. To estimate E X , you have simulated X X X X X1 2 3 4 5, , ,  and with the following results: 
 
    1 2 3 4 5 
You want the standard deviation of the estimator of E X  to be less than 0.05. 
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Estimate the total number of simulations needed.  
 
(A) Less than 150 
 
(B) At least 150, but less than 400 
 
(C) At least 400, but less than 650 
 
(D) At least 650, but less than 900 
 
(E) At least 900 
 

67. You are given the following information about a book of business comprised of 100 
insureds: 
 

(i) X Yi ij
j

Ni
�

�
�

1
is a random variable representing the annual loss of the i th  insured. 

 
(ii) N N N1 2 100, , ..., are independent random variables distributed according to a 

negative binomial distribution with parameters r (unknown) and � � 0 2. .  
 
(iii) Unknown parameter r has an exponential distribution with mean 2. 
 
(iv) Y Y Yi i iNi1 2, , ..., are independent random variables distributed according to a Pareto 

distribution with � � 30.  and � � 1000 . 
 
Determine the Bühlmann credibility factor, Z, for the book of business. 
 
(A) 0.000 

 
(B) 0.045 

 
(C) 0.500 

 
(D) 0.826 

 
(E) 0.905 
 

    68. For a mortality study of insurance applicants in two countries, you are given: 
(i) 

 Country A Country B 
ti jS  jr  jS  jr  

1 20 200 15 100 


